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Supplemental Figure 2

Act D (2 pg/mL)
VC (50 pM)
2.07 _ 180 kDa — =
A Medium collagen R

1.57 Laminin250 kDa e - —

1.0 1 180 kDa — ww - -
Intracellular collagen s -

0.57

Relative Col I a2 level

actin 43 KD — - S i w—

0.0 ] ) L 1 L
VC (50 uM) + -+ + + +

15mins  1lhr 3hrs  6hrs p=0.0008,n=3

p=0.03,n=3 p=2.47E-05,n=3

Medium collagen T

pepsin - - +
VC (50 uM) - .

180 kDa— .""
. VC (50 uM) -

~
3
c
)
a0
o
o
O
S
=
5
9]
=

ActD (2 pg/mL) -
Oh 15mins 3hrs 6hrs

VC (50 uM) p=0.0025,n=3

- +
180 kDa—
Medium collagen L *

pepsin
VC (50 uM)

15 P=0.0008,n=3  p=0.04,n=3

1.0+

0.5-

Intracellular collagen la2

0.0
130 kDa —
Medium collagen VC (50 uM)

(pepsin-resistant) Act D (2 pg/mL)




Supplemental Figure 3
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Supplemental Figure 4
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Supplemental Figure 5 Supplemental Figure 6
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Supplemental Figure 7
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